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Time : 3 hrs] [Max. Marks : 80 (Freshers)

70 (Repeaters)

Instructions to candidates:
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1. Students who have attended 30 Marks IA scheme will have to answer

for total of 70 Marks.
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2. Students who have attended 20 Marks IA scheme will have to answer
for total 0] 80 Marks

3. Answer any Five of the following questions Each question carries 14

marks Q. mpulsory for Freshers ] i
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I.  Answer any Five of the following questions. All questions carry equal marks
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al thought.
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7. My principle is Maximum happiness of the maximum number of a people”. Jeremy
xplain.
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Compulsory question for 80 marks Scheme only) 1X10=10
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10. Assess the contributions of Edmund Barke.
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